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 L = X  * 760 mm + 200 mm 

Zhutněný podklad
(písek, šterk)

Výstupvody
Geotextilie
netkaná

Geotextilie
netkaná

Geotextilie
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netkaná

X - množství šachet

Vstup
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DATUM: HMOTNOST:  kg
NÁZEV

ČÍSLO VÝKRESU

LIST  1  Z  1  LISTŮ

Vsakovací šachta 
Podzemní instalace

PROMÍTÁNÍ

VYPRACOVAL: 
KONTROLOVAL:

SCHVÁLIL:

MĚŘÍTKO

1:15
MATERIÁL:

POLOTOVAR:

TOLEROVÁNÍ     ISO 8015     ANO

NETOLEROVANÉ ROZMĚRY ISO 2768 m K

FORMÁT

Diachuk D.

A3

Angervaks A.
Angervaks A.

12.10.2023

A A

B B

C C

D D

E E

F F
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